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1. If x + -
25 

-10 then value of x2  + 
50 

will be 
x- 	 x2 

	

1. 29 	 2. 25 

	

3.24 	 4.27 

2. If x+y- 3 and x2  +y2  =15 then value of 

(x - y)2  will be 

1. 21 	 2. 36 
3. 25 	 4. 16 

3. 	If -
a

= 
b 	

then value of 
a+b+c 

3 -5 7 
1.7 	 2.3 
3.10 	 4.5 

will be 

4. It sum of two numeber is 25 and sum of their 
square is 425 then what will be their product. 

	

1. 200 	 2. 300 

	

3. 100 	 4. 400 

5. If 0.64 ÷ a2  = 64 then positive value of 'a' will 
be 

	

1. 0.1 	 2. 0.01 

	

3. 1.0 	 4. 10 

6. 	Divisor is 30 times of Quotent and 4 times of 
Remainder, If quotent is 20 then Dividend will 
be. 
1. 1,200 	 2. 12,150 
3. 10,000 	 4. 600 

7. • If 30-2h 27  and 9a" = 3 then value of -- 

will be 
b 

1. 
-4 

2. 5 
3 8 

3. 
5 

4. -8- 
6 5 

8. 	If -j17+ x 1 1 =11-1+ J then value of x2  
will be 

1. 	 2. 23 

3. .1-6- 	 4. 24 

PART - I  

MANTEL ABILITY TEST (MAT) 
Laic -r tutur 

(QUESTION NO. 01 - 100) 
(M 	 ticczn 01 - 100) 

1. Tfit x+-25  =10 6 cif X2  + -50 .-r ,-11-1 0,11 
x 	 x2  

	

1. 29 	 2. 25 

	

3. 24 	 4. 27 

2. tf"ft x+y= 3 'd-P-TT x2 +y2 =15 	(x - y)2  

TT TIT9 6 4 11 
1, 21 	 2. 36 

• 3. 25 	 4. 16 

3. zd:. a ,b,  z___c 6   0 
 a+b+c c1'-Il-1 04 11 

3 5 7 	 b 

	

1. 7 	 2.3 

	

3. 10 	 4. 5 
.W.-q-1134 TT zl +I 25 t 3-T17 \3.1ct 

c14 11 	-I),11 425 6) cl) 	-I .-k....z11311-  c1)I 

V1-11-1,(-1 
1. 200 
3. 100 

5. 	-Efft 0.64 a2  = 64 6) c-I) 'a' 01 

.4-11-1 6 ,11 
1. 0.1 	 2. 0.01 
3. 1.0 	 4. 10 

2. 300 
4. 400 

6. 1-1T 	FITTE 	V 30 IFT 3117 	Ng) et V 

4 't-11 	zif4 7-TFTITa.  20 0 01 FF7-4 1 
1. 1,200 	 2. 12,150 
3. 10,000 	 4. 600 

7. Tift 3u-2b  = 27 	9a+b  =3 tf 	V Hl 	1 
b 

6 'II 

	

1. 	
4 	

2. 5 
3 	 8 

	

3. 	 4. 
8 

6 	 5 

8. A/17+x-si11 =-N/Ii+-‘J rl 	x2  chl 

411-1 04 11 

1. VII 	 2. 23 

3. j 	 4. 24 

• 
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12. If 12= 
x+ 3 
	 then value of 

q x-3 

6x 
1. 	 

-- 9 
12x 

3. -- 
x2  t9 

P
2 
 -q

2 

 w 

p2 q2 
will be  

6x 

x2  +9 
12x 

4. 	 
x2 -9 

2. 

2 	2  12. ,4R 13 ,.x+3 	P q2  tsi\IGN 	4ir 
q x-3 	p2+q 

1.  	 2 	 
6x 	 6x 

x2  -9 
-- 

x2  -9 
12x 

3.  	 4. 
x2 +9 

X2  +9 
12x 

9. If -1-0-.-02x0.2xa = 0.2 x 0.2 x / -b-  then value 
61 

of - will be 
b. 

	

1. 0.4 	 2. 0.2 

	

3. 0.04 	 4. 0.02 

10. If 7 -V3 and 7+,5 are solution of a 
Quadratic Equation, The Quadratic Equation 
Will be 
1. x2  -- 14x + 46 =0 	2. x2  + 14x - 46 = 0 

3. x2 -14x-46=0 	4. x2 +14x+46=0  

9. ti ft 110.02x 0.2 xa = 0.2 x0.2 xlrb
b  

cot 	ft-d-9-r 0 411 
1. 0.4 
	

2. 0.2 
3. 0.04 
	

4. 0.02 

10. 73(f .  7 -1/4 -4 7 + 	ftEffff '(-11-401 

tri 	ItErfff 'd4.11ct)1 tTit 

1. x2  -14x + 46 = 0 	2.. x2  +14x-46 = 0 

3. x2 -14x-46=0 	4. x2 +14x+46=0 

11. In 	a - 	Triangle 	PQR 	if 
ZO = 3/ R = 2(LP + ZR) then value of LQ 
will be 

	

1. 110° 	 2. 120° 

	

3. 40° 	 4. 102° 

	

11. qR 	f -Rftf 	PQR 

LQ=3ZR=2(ZP+ZR) 3 	ZQ 

6 	4II 
1. 110° 	 2. 120° 
3. 40° 	 4. 102° 

13. If perimeter of a square is same as that of a 

Rectangle whose length is 24m is double of 

its breadth then area of square will be 

1. 324 m2 	 2. 342 m2  

3. 224 m2 	 4. 330 m2  

14. If volumes of two cones are in ratio of 2 : 3 
and their base radii are in ratio of 1 : 2 then 
what will be Ratio of their heights 
1. 8 : 3 	 2. 3 : 2 
3. 4 : 3 	 4. 2 : 3  

13. Tift 	c441 	rft9Tcr Tet4, .3-11 

31-RI c1)1 	 * 	'-1(6)" c it 24 -41-d7 * 
-c,11 	git t \3-1 ci4i 

6)4II 
1. 324 c141 	0 	2. 342 col-  to 

3. 224 c141 AtO 	4. 330 

14. z[R 	tT311 c 3TTerd-9).  c01 3171ff 2:3 t 
31-1Vitt 	jr-TzETT 311 01 31-It4 iff 

1:2 t 	39-4-  4;-ci 	i4A 	3-171-ff 
6 4 11 
1. 8 : 3 	 2. 3 : 2 
3. 4 : 3 	 4. 2 : 3 

15. If 	= 8' a 
1. 34 
3. 33  

d 9Y = ' then value of x+ y 
2. 25 
4. 24  

15. zif: 	= 8Y-1 	9Y  =3X-6 	x + y 04 11 

	

1. 34 	 2. 25 

	

3. 33 	 4. 24 

16. If two numbers are such that their defference, 
their sum and their product are in Ratio 
1:7:24 then product of the two number is 

	

1. 48 	 2. 44 

	

3. 54 	 4. 38  

16. 	 cif #c-aa-r311- 	2114 1 	719.  

1:7:24 -4 t- 	•1k.,q-11311 cm 4,1.ukit-bo 04ll 
1. 48 	 2. 44 
3. 54 	 4. 38 

17. The mean of the median, - mode and Range 
of the observations 7, 6, 7, 9, 14, 9, 7, 15 is 

	

1. 8 	 2.9 

	

3. 10 	 4. 7  

17. tr&-lit 7, 6, 7, 9, 14, 9, 7, 15 
q-ik chI T -EZr t 

	

1.8 	 2.9 

	

3. 10 
	

4. 7 
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18. A person spends 80% of his income. With 
increase in the cost of living, his expenditure 

increased 	by 	371% 	and 	his 	income 
2 

increases by 16--% . His present percent 
3 

saving is 

1. 	10-1  % 	 2. -12-% 
5 	 3 

3. 51% 	 4: 55% 
3 	 7 

18. .) 31-1-<Tir 3-Tuf1 311-9-qt 01 80% -CI- 	cMc-11 

* I 	ffidg 	.Z;f4 	"-- t 	3-Tit 	31-F-4-- 

16-
2

% .40' * I ..2- -1 f 371% €.1 q) \-11101 
3 	 2 

t.  1 t .uRT-4 -q---19-r9-  6T4-0-  mrici t - 1-lit 

1. 	101% 	 2. 	121% 
5 	 3 

1 
3. 5-% 	 ' 	4. 55% 

3 	 7 

19. The cost of five chairs and three table is 
3110/-. If cost of one chair is 210 less than 
cost of one table. What is the cost of two 
tables and two chairs 

	

1. 21760 	 2. 21000 

	

3. 21660 	 4. 21800 

19.  17-4 titzlI q t9- -4---  ct-ii 1pzif 23110/- 6) I 

'. 	---- Tin- 	-) Vit cbl 	--&:if 	) 4),-1 	t 
2210 	4) 41 t c1') 	q) 	44.)-i 	4 q) 15it-41. 	c01 

5f 6)4 ir? 

	

1. 21760 	 2. 21000 

	

3. 21660 	 4. 21800 

20.  If 5=a+- 	1 	then value of `a' will be 20. Zrft 	1 	t 	'a' 	01 	9I-1 	)411 
5=a+" 

 
1 

1+ 
1 

6+- 
2 

15 	
2. 	

62 
1. 
-62 	 15 
14 	 61 

3. 	 4. 
6'1 	 14 

•  

1+
6+

1
1 
2 

	

1. 	
15 	

2. 	
62 

-62 	 15 
14 

	

3. 	 4. 	
61 

-61 	 14 

21. le7  of a number is 5 more than its 5. Then 
8 	 7 

Nine times of Number will be 

	

1. 380 	 2. 208 

	

3. 308 	 4. 280 

21. 7 	5  zuft -f+--1)-  *i'&-11 	01 	\3-ic- 	t 5 vqlql 
8 	• 	7 

tf cl) 	'i*1 	-k-q41 	cPi 	-9).  4,t'li 	6) 4 11 

1. 380 	 2. 208 
3. 308 	 4. 280 

22. If a cone of height 24cm and base 6cm 
melted and reshape 	into a sphere. Then 
what will be the total surface area of sphere 
1. 367r Sq CM 	• 	2. 	167r Sq cm 

3. 	1447r 1447z-  Sq cm 	4. 	1427t Sq cm 

22. tff - 	) t-T 	1. 14 	.37-c4I 	24 tt-0 q 

3-MIR cp 	4 -i77-4T 641t0 	chl.  N -4(.110-) 

. 

-Rilzkul -) 	4 nc,i1 	GI-IRII 	vIN 	c.1) 	\3 -i 	4 1)Q). 	cOl 

6) 4 11?  
1. 367r c14 tto 	2. 167r WI.  10 

3. 	1447r c-1 41 to 	4. 	1427r 	c1 41 tz#0 
23. P and Q can do a piece of work in 10 days, Q 

and R can do same work in 15 days, R and P 
can do the same work in 20 days. Then in 
How many days R will complete it alone 
1. 115 days 	2. 	110 days 
3. 130 days 	4. 120 days 

23. P 3N.  Q 	cl.) M-71.  ct)) 	10 .14-9-  # ct.), 	•-ict)c) 

t, Q 3N R 	15 f4-9- 14 .ff2;17 R .q.  P *, 

-1-49- '1'49-  20 	If ct) 	-ict)c) * c1') R 3-1*67 \1 

cP) f+----d--4 TIT4 44 (11 ct) 4 l I 

1. 	115 f4-9- 	2. 	110 f 

3. 	130 	 4. 	120 r4.9- 
24. In the following which one is the smallest 

1. vi 	 2. V71  

3. -1/2 	 4. -5 

24. eq19.  # t cill-i .RITTI-03-4 it-dl.  * 	. 

1. V3 	 2. ka 

3. . Vi 	 4. Ili 
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25. 	If P denotes +, Q denotes -, R denotes x and 
S denotes +, which of the following statement 
is correct. 
1. 36 R4 S8Q7 P4=10 
2. 16 R 12 P 49 S 7 Q 9 = 200 
3. 32 S 8 R 9 = 160 Q 12 R 12 
4. 8 R 8 P 8S 8Q8 = 57 

25. 	Tilt-  P 	4)1 	3T? +, Q 	4)1 	3T2f -, R 	4)1 	31.0 	x 

3ft 	S 	ci-)1 	3T0 ±, 	c-i'r 	--i'diZ_ci 	44 	ci-;1-1 
X11 - 2-1--1 TIM- 	t? 
1. 36 R 4 S 8Q 7 P 4 .-- 10 
2. 16 R 12 P 49 S 7 Q 9 = 200 
3. 32 S 8 R 9 = 160 Q 12 R 12 
4. 8 R 8P 8 S 8Q8 = 57  

26. 	A vessel contains 60Ltr. of milk, 12 liters of 

milk is taken out of it and is replaced by 

water. Then again from the mixture 12 liters 

are taken out and replaced by water. 

Find 	the 	amount 	of 	milk 	left 	after 	the 

operation.  

1. 	28.4 Ltrs. 	 2. 	21.6 Ltrs. 

3. 	36 Ltrs. 	 4. 	38.4 Ltrs. 

--)- 26. 	lch 	cick 	14 60 	t---R-  T-T *, 	--R-#4 	12 

A-C-7 V 	, 	c1-) 	\c-1-11 t "Tit Th---r 
Iza 	\3-1 101 	I 	Ict)  t 	t 	- -qT-q 11--: 3-#1 f'15 TuT it I 

-)- 	12 	•I'i-d7. 	47 	fiTh--1-. 	c., 	\3sdcn 	u14 16 

cl•-11 	--c,) 	1:1T41 fkffr ftzur TRir I 	*s -i 	vft-zrr 
-41- 	i 	c0-1 	Ifcl-c) 	T-T q)(1.  TTNT 	Vci 

1. 	28.4 --c---t-7 	2. 	21.6 

'1---7 3. 36 36 A-C-7 	 4. 38.4 

27. 	Select the one which is different from the 
other three responses. 
1. 	15 : 46 	 2. 	12 : 37 
3. 	9 : 28 	 4. 	8 : 33 

27. 	fric-ti-c-i-  iq-c -  # \31 ffTh - r Ohl" 	.-)- 

3-T-1 t- 	{c1)(.•k-II 	.R4 fl-- ' t I 
1. 	15 : 46 	 2. 	12 : 37 
3. 	9 : 28 	 4. 	8 : 33 

28. 	In a row of boys A is 20th from left and B is 
16th 	from 	right, 	interchange 	their 	position, 
then A becomes 30th from left. How many 
boys are there in the row? 	- 
1. 46 	 2. 44 
3. 45 	 4. 48 

• 

28. 	c-ic-0)cit tch  tirrOT -44 A 4)1 	.-2-1T9- .41-41-  MT-F 

20c11 	-c-12TT 	B 	chi 	--P-41--- 	-1-t- -ff--cF t 	16cii 

317 t I 	&EFT ..-P--TT9- 	1-Ri # 	uk 	A 	ch 1 -4-q--6-4' 
___ 

-,,TT9- -41t Ti7EF --1- 	30c11 	Si 	u11(11 	*, 	iff4fr 

# el \c,1-)I 	V 	-i,Lc.ii -4.m34)-? 
1. 46 	 2. 44 
3. 45 	 4. 48 

29. 	A 15cm coloured cube is cut into 3cm small 
cubes then how many cubes are formed 
which have only one face painted. 
1. 	54 	 2. 	64 
3. 44 	 4. 84 

29. 	yct) 15 	)it 0 '43-- T clic) tlirff 	--1-1 4)) 3 tit0 

"4- 1 -. 	6-NIEN 	5,,cl 	# 	(bit' 	\31101 	t I 

-f ---d- 	-1.-1 t fa9-44 cl)cid 	c.1-) 	s-ici 	g) -trf'F 
t 1 
1. 	54 	 . 	2. 	64 
3. 44 	 4. 84 

30. 	A father tells his son "I was three times of 
your present age when you were born" If the 
father's present present age is 48 years, how old was 
the boy 4 years ago 
1. 24 years 	 2. 8 years 
3. 	12 years 	 4. 	16 years 

1'..q 30. 	ych ft -di-  31-T4 -g--- 	4)601 * f 	7 
tl- r 	0 c-i) 1?rt 34-PA -g-1=ffi &PA 
lrfit 	- Tfft ft-dT - r°1- -q-4-#T- 	39 48 71 

*, c-I) 4 ,1 I c-f 	c 	r 	3I-Pj 7Efr Or 

1. 	24 	 2. 	8 -q-4 
3. 	12 	-qTs 	 4. 	16 	citl  

Direction (Q. 31 to 35) Find the missing term in 
the series given below. 

-1"41-  (s 	-t 	\Lkszil 	31 	t 35) 	1 4---111Z5c-1 # 	(At-c1 

tkg41 Vc-I 47 4 i 

31. 	2, 12, 30, 	? 	, 90, 120 
1. 48 	 2. 	56 
3. 63 	 4. 72 

31. 	2, 12, 30, 	? 	, 90, 120 
1. 	48 	 2. 	56 
3. 63 	 4. 72 

05A 
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38. What is the value of A, B and C is the given 
matrix. 

9 A 12 
B 10 7 
8 E 11 

1. A= 13;B = ti, C = 9 
2. ik= 13,B= 9,C= 11 
3. A= 9,B= 11,C= 13 
4. A= 9,B=13,C= 11 

7"3  +14 x 7"+4  
39. Simplified value of 

1. 98 2. 100 

3 99 4. 97 

7n+3 
	is 

7'3  +14 x 7n+4  
, crilq>d 4-11-f 

1. 98 2. 100 

3. 99 4. 97 

39. 
7n+3 

32. 10, 100, 200, 310, 
1. 400 
3. 420 

? 
2. 
4. 

410 
430 

33. 0.5, 2, 4.5, 8, 12.5, ? 
1. 	16 2. 17 
3. 	16.5 4. 18 

34. 109, 74, 46, 25, 11, ? 
1. 	3 2. 0 
3. 	11 4. 4 

2 	4 	? 	11 	16 
3 '7 '?'21 '31 

1 	6  2. 
11 9 

3. 	
9 4. 1  
11. 13 

36. There are twelve dozen of apple in a basket. 
Two dozen are added later. Ten apples got 
spoil and are removed. The remaining are 
transferred equally into two baskets, how 
many are there in each. 
1. 168 2. 158 
3. 79 4. 89 

32. 10, 100, 200, 310, 	? 
1. 400 
3. 420 

2. 410 
4. 430 

33. 0.5, 2, 4.5, 8, 12.5,? 
1. 	16 2. 	17 
3. 	16.5 4. 	18 

34. 109, 74, 46, 25, 11, ? 
1.3 2.0 
3. 	11 4. 4 

35. 
2 	4 	? 	11 	16 
3 '7 '?'21 	31 

1. 	
6  
- 2. 	-

5 
11 9 

3. 2  4. 1  
11 13 

36. 1;4-) -drY. 1 	12 	qui-1 1 -4)- 
.1() 'IN I -1 -1-# t 10 4q- 	0- 

\3'14)) 6tI fiirr 4IZII I tfft 	tfq cr>1 
G"IG" T 4R11 

trwtt 	--dr 4p) : 
1. 168 	 2. 158 
3. 79 	 4. 89 

37. At what time between 8 and 9 will the hands 
of a clock be together 
1. 40 minutes past 8 

2. 431  minutes past 8 
11 

3. 431  minutes past 8 
11 

4. 44L
0 

minutes past 8 
11 

37. 8 3117 9 qui 	€11-c1 frq 71:17 "Ef01 4 
-I • T*-zrr 	-> Ti-r2T trit 

1. 8 GIvIci-) 40 lit9Z 

2. 8 Ekrict-P 431  f49Z 
11 

3. 8 qvIct) 2 43-8- fti9Z 
11 

4. 8 61\710) 4410 	TH 
11 

38. 	f4-4 4P.) 	# A, B 31 	c cr) I 411'1 
cM I 	II 

9 A 12 
B 10 7 
8 C 11 

1. A= 13,B=11,C= 9 
2. A= 13,B=9,C= 11 
3. A= 9,B= 11,C= 13 
4. A= 9,B= 13,C= 11 

05A 
	

Page 6 of 32 



co 
-c 

2 
15% 

Others 

West 
Bengal 

20% 

Karnataka 

60% 

Below 20 
years 
60% 

Below 40 
years 20% Below 20 

years 

Below 40 
years 20% 

_c 
CO 

15% 
Others 	Karnataka 

West 
	

60% 

Bengal 
20% 

	 qii tilJ 	T1 	fer- ,41.7,41 
R)41 	44 A 	f4;41sii 	cne) 
1H-e1-4 t44toi t qq114cliq 4vrft 	ti 
4-1N 	anzl 	aTtw4 	"Ri-- r1 

ent 3 zu 44 1,00,000 ITTR-tzi trzf-C 

f;41sq Tr4, 1 	q 3Ttw-0 	aTTETH 
TR Pi i o-.11 	-t-f7 

40. If tanx =5-V3 then 22 tan(90 - x) is equal 

to 

1. 5-4-Ni3 	 2. 2-.6 

5+ V3 3 
	 4. 13+Ii 

22  

40. 7:1ft tanx = 5 -15cal 22 tan(90 - x) ct-)1 4i1-1 

6NIGN 61+11 

1. 5+-6- 	 2. 2-Vi 

.\/  
3. 5 

+ 	
4. 13+15 

22 

41. If a =- 
1 

= and b = 	
1 	

then find the 
2- J3 	2 + A/3 

value of 7a2  +11ab -7b 2  

2. 13+11156 

4. 11+56-6 
42. Two pipes A and B can fill a tank in 12 and 

15 minutes respectively. A third pipe C can 
empty it in 10 minutes. How long will it take 
to fill the tank if all pipes are opened 
Simultaniously 
1. 20 minutes 	2. 30 minutes 
3. 40 minutes 	4. 25 minutes 

41. zift a= 	b= 	th* 
2-/ 	2+-0 

7a2  +1 lab -7b2  

1..\/1.1+31-5-6 	2. 13+11-X 

3. 11+5- 	 4. 11+56J  

42. eilltf A 311-R.  B tch 84) co 5041n 12 3117 

15 fi?fTd 	 t, cP t-TRT 71-47 

c, 10 f4 	8c1) co) vf 

 	zift tht 	cp 

06 	 84) ft-J4 Tf1:14 14 	ITO-rr? 

1. 20 it-9Z 	2. 30 ftf9Z 

3. 40 ft--d 	4. 25 ftF.-d 

1. VII +3-Nf36 

3. 11+5-J3 

43. A sum amounts to Rs. 800 at 3% Per annum 
in a certain time but amount to Rs. 1000 at 
5% per annum in the same time total sum 
and time are 
1. Rs.500, 20 years 	2. Rs.400, 20 years 
3. Rs.550, 20 years 	4. Rs.600, 10 years  

43. 	ct.) U971-tt (trizT9) 3% 3i-ftTRui vf17 

11 800 Tclt PNzT9.) 
Wth 	5% 4 Tif5177 	zfR.  

-q-61 zi9-RTP-r 1000 Tiqz). 	 1 to 
u93rft 3 	31-Trzrr-af4 	I ci 1"'rf'• 

1. 500T., 20 citi 	2. 400T., 20 citi 

3. 550T., 20 citi 	4. 600T., 10 citi  

44. It a and b are the roots of x2  - 2x -1 = 0 then 

value of a2b+ ab 2  is 
1. -2 	 2. 2 
3.'/2 	 4.4  

44. Tift a 3N b, x2  - 2x -1=0 -ftEfTff fl4-1)ct)'<ul 

	

9 t a2b+ab 2 	 -11c1 

1. -2 
	

2. 2 
3. 1/2 
	

4. 4 

The pie chart above describes the 
characterstics of Indian visiting UK from 
various states during a given year. 
Answer the following questions given below. 
Assume that the age wise distribution data 
applies to all states and that in the given year 
1,00,000 Indian visited UK. 
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45 Number of visitors from Karnatka in the age 
group of 20-40 years 
1. 20000 
2. 18000 
3. 12000 
4. None of these 

46. Number of visitors from Maharashtra below 
the age of 20 year's. 

	

1. 3000 
	

2. 5000 

	

3. 60000 
	

4. 8000 

45. cb-litct, 	YII-) cilc,) 20-40 clti 	3774 
• 114tc0I 4 

1. 20000 
2. 18000 

3. 12000 

4. \t-R)0c-1 14 	ct))4 

46. 4-16N1 	 t 20 citi   31T 	 clic)) 

cp 

	

1. 3000 	 2. 5000 

	

3. 60000 	 4. 8000 

47. How many visitors were below 20 years of 
age but were niether from Karnataka, nor 
Maharashtra or West Bengal? 

	

1. 7000 	 2. 15000 

	

3. 9000 	 4. 6000 

47. 	ft-d-4 	21 \A 20 	chii 31TS 
IcR.  

t 3117 	 61,11c1 	0.? 

	

1. 7000 	 2. 15000 

	

3. 9000 	 4. 6000 

48. The ratio of visitors from West Bengal below 
20 years to visitors from Maharashtra above 
40 years in 
1. 1 : 3 	 2. 12 : 1 
3. 3 : 4 	 4. 3 : 1 

49. Find the difference between visitors from 
West Bengal and Maharashtra in the age 
group of 20-40 years 
1. 4000 	 2. 6000 
3. 3000 	 4. 8000 

50. The numberr of ways in which 6 students can 
be seated at a round table is 

	

1. 720 	 2. 120 

	

3. 410 	 4. 350 

51. What letter will come next in the following 
series? 
ABCDEFG ZYXWUVTBCDEFY 
XWVUCDEXWVR 
1.A 	 2.V 
3. B 	• 	 4. Z 

52. Among P, Q, R, S and T each secured 
different marks, Q scored higher then T only 
and P secored higher then S but lower then 
R. Who among them scored highest marks. 
1.P 	 2.S 
3. R 	 4. T 

48. tfit41i E1411e1 	20 cl 34 c01-1 3TTI 
4 t 	c 1 311-R. 416 	40 ci 	i rf 	RS, 
• LI4e4 r 3TTird 
1. 1 : 3 	 2. 12 : 1 
3. 3 : 4 	 4. 3 : 1 

49. 20-40 ci 4 31Pj 	Eft-41i 614110 

116R1 	44tct)I 4 *1. ..q-113T1 	be riT 

On! 
1. 4000 
	

2. 6000 
3. 3000 
	

4. 8000 
50. cl') 1 	I) M 1)vl 	Tea 3117 6 frr ci 

UttThlt ,(-1(m) *1 

	

1. 720 	 2. 120 

	

3. 410 	 4. 350 

51. *\Ll 	T 4 3p-ra-r 31.&97 01-1 .RIT 04 11 
ABCDEFG ZYXWUVTBCDEFY 
XWVU CDEXWVR 
1. A 	 2. V 
3. B 	 4. Z 

52. P, Q, R, S 	T 
3v-it, Q 	U M T 	.11q1 3117 P 

S 	-11q1 tft-9.  R 	ch4-1 3t 	111,-c1 ft71 
r4t 	i.4 T104 3114-. 3 Yltcl 
1.P 	 2.S 
3. R 	 4. T 

Directions (Q. No. 53 to 56) : Study the 
following series carefully and answer the 
questions given below : 
7M4P%JV1 K3@EW2Q©6TA*8Z15 

$FU#9HN 

ickft NO it 53 *1-  56) : 	-TN 551WM.  
T4 R -ArZgt1  	‘3CC1X 

7M4P%JV1 K3@EW2Q©6TA * 8Z15 
$FU#9HN 
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53. Which of the following is the sixth to the left 53.  -pi--ifiZqd 	 3417 

of ninteenth from the left end of the above 	\3-1) 	q\>. .4Tt 	 t 
arrangement 
1. $ 
	

2. T 
3. W 
	

4. 2 

1. $ 	 2. T 
3. W 	 4. 2 

54. How many such consonentIare there in the 
arrangement, each of which is immediately 
preceeded by a symbol and immediately 
followed by 2 numbers? 
1. four 	 2. One 
3. Two 	 4. Three 

54. 	 lurm 	Wd-4 c24,1-( 	g 
Lio(-4 	 4)1:-,' 

31 f t I 

1. 	 2. 	L c.1-) 

3. (-ft 
	

4. 

55. If all the symbols are dropped from the above 55. 
arrangement then which of the following will 
be twelfth from the right end. 
1. Q 	 2. 6 
3. 2 	 4. T 

Tit 	c-Fr 	ftqf     4t 
55S- rm 	-q-711-  .3tH 	6)TrT.  - 
1. Q 	 2. 6 

3. 2 	 4. T 

Directions ‘u. NO. 
0.1. 	 OS 

to t311) : Study the 
following information carefully to answer these 
questions. 
Seven friends A, B, C, D, E, F & G perform in 
stage shows on a different day from Monday to 
Sunday not necessarily in the same order. 
Each one performs a different item viz Music, 
speech Dance, Mimicry, Play, Debate and 
monologue, not necessarily in the same order. 
B performs play on Thursday and E performs 
Music on Sunday. G performs mimicry but not 
on Tuesday or Saturday. C's performance is on 
the next day of G's performance. D performs 
on Monday but not the next day of G's 
Performace. D performs on Monday but not 
Dance or Debate. A performs Monologue 
which is on the next day of speech. Dance is 
not performed on Saturday. 

56. Who performs Dance? 
1. C 	 2. F 
3. D 	 4. A 

f,?1-41 :-(AO -#0 56 	60) : 	+ I4) 

T r ,i,c1ct, t-4 	Ti lff>tiU -TZ9 	\3•C-K 4 - 
-iTru f A, B, C, D, E,FU2TTG +i r1 .EN 31-T 

cpolq 	 (14, 

114-cal o.)1i 	* 	ulf4ff &T cbc11 

4 TTit, 	(t)c-11 * 	Treita, wiTur, 
cif 	UKT rct)(1 3T1971 

D.-14)1 sb+1 f4ftff-d- 	t I B 4,V)clk c-t)1 -11dct) 

TRTT ctrWl -UM E 	 .#ert-a, G 3T1W- uf 

* I:Ng 4 I 	ei ci 	7:11 IRcik 	I C, G 

34-cr-41- 	4ct1 t I D 3icit WR1f .  

(?‘ 	ci l *'G 	 3T1 

-9-efc1 	I I D ail 4-1c1 k cb1 &EA ;RV 	c1 I 

titg c46 	c11 -TM ct),MT * U`41- 	bc) 

cilq-ftaret-  cMc-11 * I A 	bc1 3ft9721 cMcll * mil 

4̀-TTEfur 	31-1-0 1 -1 Ocit t1 	 1Pcik 
ws-a 	*1  
56. 1c-.4 4 .WTO-  41 chc11T - 

1. C 	 2. F 
3. D 	 4. A 

• I AP.  

57. Which item is performed by D and on what 
day? 
1. Mimicry - Monday 
2. Music - Tuesday 
3. Play - Wednesday 
4. Speech - Monday 

57. D TT cMc11 t.  3tH 	ft? 

1. 3114)\0-if - 

2. TiTirj - 4-i4 1c1clk 

3. -ildct) - T-417 - 

4. '4.717 - •-114-1c1 I 

58. A performs on which day of the week? 
1. Tuesday 	 2. Wednesday 
3. Friday 	 4. Saturday 

58. A c6-1 	 - 
1. 4-i 4 1dc111 	 2. lElcik 

3. T 41R- 	. 	4. 	IRcIN 
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2. 57 
4. 80 

61. What is the number of non-working females 

1. 167 
3. 17 

4. 80 

61. cl-)14-14)W1 	qTA-  TftMA 	tQ-1I 

1. 167 
	

2. 57 
3. 17 

7 
21 
7 

12 
27 
14 

35 
23 

3. 17 4. 16 

59. G performs on which day of the week 
1. Wednesday 	2. Saturday 
3. Tuesday 	 4. Friday 

59. G 	 ,-c116 	-1" T1-01-  - 
1. lu4N 	 2. iP1c1k 

3. 4-I4 1Q-lcik 	 4 jsi-)cfk 

60. Who performs in debate? 
1. B 	 2. D 
3. F 	 4. C 

60. 	cllq - 	f71- ff 	rr\TlIciIt? 
1. B 	 D 
3. F 	 4. C 

-Pt'4T : (TOTiO 61 .4 63) : 	f4TIT 4 1L11 	 

fr 500 c61 	 clie) 

4 t f 	c4 ,1. 	 -47r1-m 
t, 1ff 	 0),II(7)1, zirzm-  ft-f   chl 

T&T cal 	r1d l t 1 .1 --et ,i4 
(1),iii 4 std 	I t 

62. Tif4 	 -1,),g--11 350 

4)14-iclAul 	chTAt T,3-t 

-g? 
1. 0 	 2. 9 
3. 10 	 4. 20 

63. 	. 	c1)14-14)1\51 	cl-)s•) cilQ) 7i-Ot 

	

(6) fl 	I 	 ? 

	

1. 30 	 2. 40 

	

3. 50 	 4. 110 

64. In the matrix below, the numbers in the cells 
follow some rules. Identify the number which 
when substituted for (?) maintains the same 
rule. 
7 12 ?  
21  27 35  
7 14 23  

	

1. 18 	 2. 19 

	

3. 17 	 4. 16 

Direction (Q. No. 61 .to 63) : The venn diagram 
given below is about a small town having 
population of 500 persons. The square 
represents persons from urban area, the circle 
represents working persons, the triangle 
represents women & the rectangle represents 
educated persons. Number written are number 
of persons. 	 Urban 

ducated 

62. If urban population in 350, what is the number 
of non-educated non working urban women. 

	

1. 0 	 2. 9 

	

3. 10 	 4. 20 

63. What is the number of urban male who are 
educated but not working? 

	

1. 30 	 2..40 

	

3. 50 	 4. 110 

64. 	f 	t114 	 -1= ---s?[ Trt 

	

1 \31 	 
	 (?) 	Tf-tr 

1. 18 	 2. 19 
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Direction : (Q. No. 65 to 67) In the table given 
below, there are two columns, column I & 
column !I. Four words are written in column I. 
In Column II, Equivalent codes are used for 
these words. For each of the four words, four 
different patterns are used. Identify the pattern 
inthe option.  questions given below & choose the 
correct 	

 

Column - I 
	

Column - II 
Sr. No. 	Word 

A CHAIR 
	

YDWEN 
B PHONE 
	

SKRQH 
C TROUPE GILFKV 
D TOURIST WLXOLPW  

: (SOTTO 65 1 67) : 	t 4 14.  TURA" 14 

4;le-1 4-f t I 	sid4-f 1 3 	cbiev-i III Girl 	i1 r # 
z4N 	f'oAr * 3ft 4;10-14-1 II # *-1 "Zr- 

'41P5 T TT WIT WziT 	 T-1 NI 

3r-d-Tr-3T-JTr 	u T . (1-  414 *I  
wz91 vg-qo.  Tit tfiz-4 

rt;ici41 	I ct)1Q14-1 	II 
sTOTO .W---  ct2,t liTql .qc-414-) 

A 
B 
C 
D 

CHAIR 
PHONE 
TROUPE 
TOURIST 

YDWEN 
SKRQH 
GILFKV 

WLXOLPW 

Code Equivalent 

65. If 'JUDGE' is coded as "MXGJH" the code 
pattern followed is Serial Number - 
1. A 	 2. B 
3. C 	 4. D  

65. TI-R 'JUDGE' 01 chi 'MITT A "MXGJH"fr-r 

pTf ct,c,t 	611oTi0 - 
1. A 	 2. B 
3. C 	 4. D 

66. If 'EMPLOY' is coded as "AILHKU" the code 
pattern followed is Serial Number - 
1. A 	 2. B 
3. C 	 4. D  

66 Tif=4 'EMPLOY' .0)) cc qTT1EfT 	"AILHKU" 

faff 51N c-1) 1;ITT   	f 04i! - (R-4o- 
1. A 	 2. B 
3. C 	 4. D 

67. If 'JOURNAL' is coded as "QLFIMZQ" the 
code pattern followed is Serial Number - 
1. A 	 2. B 
3. C 	 4. D 

Direction : (Q.No. 68 to 70) : Eight person A, B, 

C, D, E, F, G, H are sitting around a circular 

table facing the centre. B is sitting second to 

the left of G, Who is sitting third to the right of 

F. Only E is sitting between A & C. C is sitting 

third to the left of B. Only one person is sitting 

between E & H. Now answer the following 

questions 

67. 	'JOURNAL' c-4)) ct)d '4-T7T A "QLFIMZQ" 
cc 	ol 	4 11 .0-T413--- 

1 . A 	 2. B 
3. C 	 4. D 

fq.4r : (Aot° 68 t 70) : 3TT3 alf4ff A, B, C, 

D, E, F, G, H 	') 1-c1i0k 4)u-t 
1.12-T-TIT2T 	 c41 30 TR-  WR-- .48 t I B, G 

*kit N)s ? T 	T T 	taT *, 	F 

31)- 	wrff 	tdr   E tA 30- 
caT tl c,B 	ATzff 31)-R- 

	

ccieT 	UTWT taT 

t 1 3T4 	 \3-c-N 

68. Which of the following is the correct order of 
seating of persons to the right of A. 
1. ECHDGBF 	2. ECHFBDG 
3. EBHDCFG 	4. CHBEDGF  

68. f1 	t ct))--1 •d1 s1)4-1 	 I A 

T TATt 31tR- 	cr) I 
1. ECHDGBF 	2. ECHFBDG 
3. EBHDCFG 	4. CHBEDGF 

69. Who is sitting third to A on its left side. 
1. B 	 2. H 
3. D 	 4. F 

70. Who is seating exactly in front of A. 
1. B 	 2. C 
3. H 	 4. F  

69. A 	qTt 3tR ti   tar 

1. B 	 2. H 
3. D 	 4. F 

70. A   taT *? 

1. B 	 2. C 
3. H 	 4. F 
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cS. 
•• 

2. 4 
4. 6 3. 5 

77. How many minimum line segment requird to 
draw the given figure? 

	

1. 16 	 2. 17 

	

3. 18 	 4. 19 

71. If % means + 
@ means - 
A means x 
v means 

Then the value of 
42 A7 v 8 @ 25 % 63 A 9 is- 

	

1. -10 	 2. 14 

	

3. -20 	 4. 30 
72. Arrange the following words in the sequence 

icy which they occur in the dictionary, then 
choose the correct option 
(i) BHAGWAN 	(ii) BHAGWAT 
(iii) BHAGIRATH 	(iv) BHAGAT 

1. iv, i, iii, ii 
	

2. iv, ii, i, iii 
3. iv, iii, ii, i 
	

4. iv, iii,  

71. % ch 13T21- + 
@ col 30 -

A 01 3TO x 

v4)1 31-0 
42 A 7 v 8 @ 25 % 63 A 9 chi 4-i - 

	

1. -10 	 2. 14 

	

3. -20 	 4. 30 

72. ar-IRTR ar-4R-Q.7.  
ct.) 	061 -{-6)-  st)4-1 	fir 
mtf  
(i) BHAGWAN 
	

(ii) BHAGWAT 
(iii) BHAGIRATH 
	

(iv) BHAGAT 

1. iv, i, iii, ii 
	

2. iv, ii, Lill 
3. iv, iii, ii, i 
	

4. iv, iii, 

73. R is the brother of S and M is the Fatherr of 
R, J is brotherr of P & P is daughter of S. 
What is the relation of P with M. 
1. Grand Daughter 	2. Niece 
3. Aunty 	 4. Sister  

73. R, S 	 I M, R chi ft :ITT ti J,P 
qTr*3T P, S c61 	I P CPI M 	TITT 

T .TiTzfq-  t  
1. -q)-61- 	 2. 7-11-9/Ter41- 
3. erer 	 4. q-6-9- 

74. 

75. 

TA-  Z = 52 -ff2TT ACT = 48 6 04 BAT ENIGN 

1. 39 2. 44 
3. 46 4. 50 

180 4 * 5 =100 t, c 7 *7 T1-12  20 * 3 = 

4)1 +-II-1 	04 11 1 
1. 21 2. 49 
3. 343 4. 7 

74. If Z = 52 and ACT = 48 then BAT is equal to 

	

1.39 	 2.44 

	

3. 46 	 4. 50 

75. If 20 * = 180 and 4 * 5 = 100 then value of 
7 *7 is 

	

1. 21 
	

2. 49 

	

3. 343 
	

4. 7 

76. How many points will be on the face opposite 
to the face which contains two points. 

76. 2 f 	cite) 14-KrIct, 	facrtrff t-poct) 

-14-s 041? 

2. 4 
4. 6 

Ar-t ••,, 
••/  

1. 1 
3. 5 

77. t I 	 3TTTi( chlV9T4 	it7 ch4-I 	ct)11 

gR4 	4 31-14VTWM trIt? 

	

1.16 	 2.17 

	

3. 18 	 " 4. 19 

05A 	 Page 12 of 32 



00 
00 

0 \ 

Ao ok, r6 

O 0 	0 0 • 
O 0 	00 

78. Lch ct)14 1v1 ci) 	317{R #1- 1-  R1 I 3117 

Tff# 1j-q-  it- f N 

(1) 	(2) 	(3) 	(4) 
t Trer -ftw- r chl .-zr9.  mc'tf 

wl 0111v1 cO) 	)c,1••) t-N fet-Rit 
1. 1 	 2.2 
3. 3 	 4. 4 

79. L  c.t) ITT 	3171-Fo f g-  I 

qi?R4-414 -itur-4 01(4  	Tit col 
-cm 	-1 

SUPER-609 
1 906-A39U2 
2. a09-R39U2 
3. e0a4139U2 
4. 5139U2-a09 

0 

Ao  

78. A piece of paper is folded as shown in the 
figure & then punched :- 

   

  

0 

Ao  

  

0V-Vo NVV-5  
O 0 	00 
O 0 	0 0 

0A__  Ao _p_AAA:2 2,\_A_A2i  -70 ov 
(1) 	(2) 	(3) 	(4) 

Choose the correct option from the answer 
figure which appears the same when 
unfolded. 

	

1. 1 	 2.2 

	

3. 3 	 4. 4 
79. A mirror is placed vertically as shown in the 

figure. Choose the correct option for mirror 
image. 

SUPER-609 

1. 906-A39 U2 
2. a09-fi39U2 
3. e0a-n3qUa 

4 F139112-a09 

0 
O 0 
O 0 

80. Each vowel in the word KILOMETER is 
replaced by the previous letter in the english 
aplhabet & each consonant is replaced by the 
next letter in the English alphabet, then the 
substituted letters are arranged in 
alphabatical order, which will be the fifth from 
the left end? 
1. D 	 2. L 
3. M 	 4. N  

80. 	KILOMETER # 	*c1 (VOWEL) 

c1u1411r11 	 fir 	4c (alphabet) 1 

fir  	3ft-R- 	cLivict) 
(Consonant) 3-1-4T - tAq (alphabet) t. 	eT 

itzir \.3-1NI 31-q. 	 qq) col Liq 

34-1M-19-  (alphabetical order) 	q-1 4 11e11 vile c11 

-q-Rif3 	' 	 LI4 fi rr X1111? 
1. D 	 2. L 
3. M 	 4. N 

81. The black star moves one position at a time 
anti-clock wise. The white star moves two 
positons at a time clockwise. In how many 
moves will they be together again? 

C 

2. 6th 
4. 10th 

81. 	 ct') 6.V 	EM 

	

c.f> 	 I TItqclkl Lc 	 

	

tr 	61qQ1c11 	I itd-t 	7Q-TF 

ET 	q)'-1).  CI I 	 4)-? 

C 

BC\D 

A\/ E 

	

1. 4th 	 2. 6th 

	

3. 8th 
	

4. 10th 
1. 4th 

3. 8th 
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• 

82. Which of the given Net from the answer 
options when folded will results in the given 
cube? 

82. \31-N P--icbQ.qI 	{4 c61-1 TiT 	171'f7 -4 1zR 
ftzrr ,K41 t1,-1 9-rTf 614ii?  

• 

t 

0 

• 

2. 

4. 

X • t 

0 

O X • t 1-0 
0 

_ 	.J 

1. 

3. 

2. 

4. 

X t • X • 

0 0 

* 

X • 0 • 

0 

(i) 	(ii) 	(iii) 
1. iii 	 2. i 
3. ii 	 4. iv 

(iv) 

Directions : (Q.No. 84 to 85) : Count the number 
of cubes in the given figure of each question 
and choose correct answer out of four 
alternative.  

-ft4t4T (90-#0 84-85)     4 sra)-.  

tml 	*it 	41 1lc1 	-ff211- .q17 R 	 717 
fcpetil.  4 	Thwezr 

84.  

1. 64 2. 68 
3. 66 4. 70 

85. The number of squares on a chess board is 

1. 203 2. 204 

3. 205 4. 206 

84.  

1. 	64 
3. 66 

2. 
4. 

68 
70 

85.  7Ic1RW R c4) 

1. 203 2. 204 
3. 205 4. 206 

IX 

83. Which of the alternatives will complete the 
figure? 

CJ 

83. c01-1 TiT ra-t-e:f 	ct)) 	ct') 4 11? 

(i) (iii) 

2. i 
4. iv 

(iv) 

J 

3. X 

it 

it 
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(1) (2) (3) (4) 

0 

0 

(1) (2) (3) (4) 

0 

0 

(1) (2) (3) (4) 

(1) (2) (3) (4) 

88. M--1 -ft7 

31 	 ft7 

86. -C179 

1\ 

ikaVI : NOM 88 tf 89)3;1- 	S179.  3Tifft 

(x) 	114-11 	tairgo arr-T-ftzri- 	Trl t 
	 t 	31-Tit (x) ‘3,i-101 

ftwrr *I -4-g arr-fftIn 	11-prot ckf 
(x) t 

(X) (1) (2) (3) 	(4) 

88.  

LL 

(4) (3) (1) 	(2) 

89.  

(x) 

86. Question Figure 

Answer Figure 

87. Question Figure 

Answer Figure 

Direction : (Q.No. 88 to 89) 
In each of the following questions figure (x) is 
embedeled in any one of the four alternative 
figures (1) (2) (3) and (4). Find the alternative 
which contains figure (x) as its part. 

(1) (2) 	(3) (4) 

(1) (2) (3) 	(4) 

CP 

89. 

Direction : (Q.No. — 86 & 87) : A net is given 
which can be folded into a figure. Choose the 
correct alternative which can be made from the 
net. 

f4-4.71-  : (voifo 86 atti-  87) 	ch itaT-4 
Tr4 t f 	4-11ctr 	.) 3TrTit 4914 w ww-dt 
t 1 tig) Rcoett 	-cm." -4f7 	wff 
*loot 
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3. 13 4. 14 

(D) (A) 	(B) 
	

(C) 
Answer Figures 

(C) (D) (A) 	(B) 
	 31-TrazrT 

O 

90. How many rectangles does the following 
figure have? 

1. 10 	 2. 12 

3rrTt 	3frzm. *? 90. 1 4--11R5 

	

1. 10 	 2. 12 

	

3. 13 	 4. 14 
91. How many squares are there in the given 

figure? 

1 11 	 2. 17 
3. 13 	 4. 16 

	

1. 11 	 2. 17 

	

3. 13 	 4. 16 
Directions (Q.No. 92 — 94) In each of the 
following questions, figures A and B are 
related. Find the figure from firure (1), (2), (3) 
and (4). Which has same relationship with 
figure C. 

fk-1:4T:(510-#0 92-94) 	 (A) 
d-P-TT (B) I-MAN ii-Rifka 131-fipt (1),(2), (3) 
ff2TT (4) 4 -4 c16 311T-ft 1144-  	 31-1V4 (C) 

‘3.ti) MON .i:FifiW.Td. 	3Thcla (A) ffqf 
(B) t I 

(A) 	(B) 
Answer Figures 

92. Question Figures 

(C) (D) 

(3) (4) 
93. Questions Figures 

11 
(1) 	(2) 	(3) 	(4) 

Directions :- (94 to 96) : In each of the following 
questions choose the correct water image of 
figure (x) from the four alternatives (1), (2), (3) 
and (4). 
94.  

(X) (1) (2) (3) 	(4) 

€0) *Ft 
94.  

41014 
(X) (1)  (2) (3) 	(4) 

(1) (2)  (3)  (4)  

92. ;179.  3117f07-ft 

(A) 	(B) 
31-r-frd-zri 

(D) (C) 

93. Wa" 31Trffil 

(1) 	(2) 	(3) 	(4)  

T: (94 t 96) : 	 ..-4 	zTr-Tra 
(1), (2), (3) -mir (4) i t 3TT c (x) 
wfOR4i 01-1 TIT t? 
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95. 95. 

) ,[' i A ri3 rq3,  
V 

(X) 	(1) (2) 	(3) 	(4) (X) (1) 	(2) 	(3) 	(4) 
96. 96.  

A V/ 
/v  VV V 

V 
VA I F 
17 

A 
AA  

VV 
V 

VV 
V 

V 
V 

VV 
V 

(X) (1) (2) (3) 	(4) (X) (1) 	(2) 	(3) 	(4) 
Directions 
following 
followed 
and (4) 
of them. 
contains 

by four 
such that 

Trace 
figure 

(Q.No. 
questions, 

97 

figure 
out the 
(x) as it's 

alternative 

to 98) 
you 

(x) is 
alternative 

part. 

figures 

In each of the 
have 	figure 	(x) 

embedded in one 
figure, which 

(1), (2), (3) w)__4  

ftbr : NO it 97 t 98) :gR)T W9' # 3ITTIt 
(x) * *WA - R ct)  3117ftzlf (1), (2), •(3) U21T (4) 3flvt. (x) 	T  yRcird. 0 tci 1,1 ti t I  
" 
to 3TT-p-it Th-T "I'f'4* -Tito 	I 

97.  . 97. 

A, 
(X) (X) 

k4A1  10. IAA  11>  A, 	 
(1) (2) (3) (4) (1) (2) (3) (4) 

98. 98. ani (--A  ,.  

(X) 	(1) 	(2) 	(3) 	(4) (X) 	(1) (2) (3) 	(4) 
Directions (Q. No. 99 — 100) : Select a figure 
from the four alternatives, which when placed 
in the blank space of figure (x) would complete 
the pattern. 

'it4T : NO 	to 99 — 100) : R 4 Tit 	I.R.  ict)t,tii 
A-4 qu  raw-ezr  i wet (x) -. Itri Q. 
vi ctrWl t I 

99. 99. 

(X) (1) 	(2) 	(3) 	(4) (X) (1) 	(2) 	(3) 	(4) 

100. . 100. 

..._ ..._ ..- *Ai * ..- A A 
(X)  (X) 

(1) 	(2) 	(3) 	(4) (1) 	(2) 	(3) 	(4) 
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TiTZTFT 2 

x=? 
7iTtzfli 1 

45° 

PART - II  

SCHOLASTIC APTITUDE TEST (SAT) 
-1) 4 2-1c1I 9,NTT 

(QUESTION NO. 101 - 200) 
*its2.41 101 - 200) 

101. A body starts from rest is accelerated 

uniformly for 30s. If x1, x2, x3 are the 

distances travelled in first 10s, next 10s and 

last lOs respectively, then x1 : x2 : x3 is 

1. 1 	: 2 : 3 2. 1 	: 1 : 	1 
3. 1 	: 3 : 5 4. 1 	: 3 : 9 

101. ch c-R-q 	3fRl TT 	WT ch 30s 

-€Ertfifftertizri 

	

xl, x2 3117 x3 s/-)4-in 	cY 10s, 3C 10s 

lOs cHA 	I 	 cer t 
: x2 : x3 GRIGN 	- 

2. 1 : 1 : 1 
4. 1 : 3 : 9 

1. 1 	: 2 : 3 
3. 1 	: 3 : 5 

102. A bomb of mass 3m kg explodes into two 
pieces of mass m kg and 2m kg. If the velocity 
of m kg mass is 16ms-1, the total kinetic 
energy released in the explosion is 
1. 192 mJ 	 2. 96 mJ 
3. 384 mJ 	 4. 768 mJ 

102. Bch 3m kg  OA 	%-t-t•))t 	m kg  3117 

2m kg 	cl 5c.t) 	A -ftlif"---ff 	t-  I 

m kg c c?-14-11-1 4)1 Hl 16ms-1, cl) 

ctri 	\3')u11 - 
1. 192 mJ 	 2. 96 mJ 
3. 384 mJ 	 4. 768 mJ 

103. Figure shows a ray of light as it travels from 
medium 1 to medium 2. If reflactive index of 

medium 1 with respect to medium 2 is  r _ 
-v3 

then the value of angle x is 

103. f 	 T TRfl- 

-4:{TW41-  1 -# -4=flzfli 2 	c t- 

Ali 2 4) Ti-M-a-T TiTzTIF 1 ch I 

3T-Efq- 	/2; 	 x c.1-)1 

1. 30° 2. 60° 
3. 15° 4. 45° 

	

1. 30° 
	

2. 60° 

	

3. 15° 
	

4. 45° 

104. Which of the following statements is true? 
1. A convex lens with power +4D has a focal 

length -0.25m:  
2. A convex lens with power -4D has a focal 

length +0.25. 
3. A concave lens with power +4D has a 
focal 

length -0.25m. 
4. A concave lens with power -4D has a focal 

length -0.25m. 

104. 1 4--i1fZo 	t 	4-)21-9- 	t? 
1. +4D 7-ffaffLc \31-1r1 

It -0.25m ter * I 
2. -4D -eel 	-) 

--Vt +0.25m 'Mr -g 1 

3. +4D -zrf4fr 	ch 31-q-d-F 

t-t -0.25m ter t 

2. -4D Wref  	c41 	thtTff 

+0.25m ttr * I  
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1.  

2.  

3.  

4.  

c-H,<* --cF 611 
ciK*t-t 

copm cm 4 
ft-2.m 	ci-) f 	614111 
cik.* 	 copm do 
ft-21-ff Lch f43 614111 

1. 

3. 
4 

2. 
2 

4. L' 
4 

3. 4. Li  

105. A constant current I flows in a horizontal wire 
in the plane of the paper from West to East 
as shown in the figure. The direction of 
magnetic field at a point will be South to 
North. 

1. directly above the wire 

2. directly below the wire 

3. at a point located in the plane of the paper, 

on the north side of the wire 

4. at a point located in the plane of the paper, 

on the south side of the wire 

105. 31'th 1b.f 	T fr 4 1L11 t C014 1U1 	cto 
4 - ct) 	 RQR ratp urRT 
of 	Lki 4 31)-R.  616 	t 
-ER .14 -- `1-zr ak7 4 ft-vrr 	r 	.3-c-k 4 
3 	ci6 

a 

106. If the current through a resistor is increased 
by 50%, the increase in power dissipated will 
be (assume the temperature remains 
constant) 
1. 225% 2. 200% 
3. 250% 4. 125% 

106: 	-) AfftfZi 	ttuk.) 	 tiRT ct")) 
50% 6I1L11 until t, c 3111-aftiff 7Tf0-  # 

trt 
	 1_17 	 t) 

1. 225% 2. 200% 
3. 250% 4. 125% 

107. The velocity - time graph of a moving body is 
shown in the figure. 

o 	t 	 

Which of the following statements is true? 
1. The acceleration is constant and positive. 
2. The acceleration is constant and negative. 
3. The acceleration is increasing and 

positive. 
4. The acceleration is decreasing and 

negative. 
108. Which of the following eye defects can be 

rectifiedusing cylinderical lens? 
1. Myopia 	 2. Presbyopia 
3. Astigmatism 	4. Hyper metropia 

E w 

IS 
1100- 	u 

N 

	

is 	 

W  	E 

107. 	Ct) 4  ID 41 11-1 61 	CP I 	l 	 ft7 
Terzur 	 t1 

A 

0 t-o. 
f*.-11(Zqo 
1. ccNul ft c 3 	t 1 
2. cck u I ftQl7 3N. 	u 11014) t 
3. cckul 6lq) 	 q9-1 	t 
4. ccNul  	* 3N.  it u110-10) t I 

108. 	0'1 Ici)k e)%411 	1;171)1T -0 i*‘-ifiZ...q1 A t 
ttsf -TITRT v l flct.)01 

1. r4M7 	q14 2. vi 	q)bi 
3. Vit -4/31-T4 	4. 7 ift 

109. the linear distance between a consecutive 
compression and a rarefaction in longitudinat 
wave is 

109. 31-TatT1 0,01 f 1(Pc-cl1i 'Wt))-cigi 3N.  
f47-J9- 	4 ftr-  Ttr t - 

1. y 	 2. 7- 
2 

.4 	 4 
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110. 	For 

speed 
frequency 

the wave shown in figure, calculate the 
and wave length of the wave if its 

is 320 ms-1. 
Y 

I\ 

110. il .-.  # Tezit 414 cI 41 * .17, TIR.  c1 4 1 
4 ZI I 01 	320 ms-1, cif 	cl+I 	4 31111 	3117 
c-1 41t-.7  Vc-1 chef''-7 I 

Y 

1. 	80cm, 
3. 80cm. 

II 	x 
20cm 

4000Hz 	2. 8cm, 400Hz 
400Hz 	4. 80cm, 40Hz 1. 80cm, 

3. 80cm, 

X 
 20cm 

4000Hz 	2. 8cm, 400Hz 
400Hz 	4. 80cm, 40Hz 

111. If x calories of he•at are supplied to 15g of 
water, its temperature rises frorri 20°C to 
24°C. If specific heat for water is 1 cal g-1  °C-
1, then the value of x is. 

	

1. 	30 	 2. 	120 

	

3. 	15 	 4. 60 

111. -Eff .  15g vi el 	c-01 	xt--0-)t \3)a-Ii 	q q 1.1 	4 
7T-01 t, 

24°C tf 

I. cal g-1  °C-1  

	

1. 	30 

	

3. 	15 

.er 	-Ict)1 	cIII-1111.1 	20°C 	t 	Glq,c.t) 

vi 101 t I Tn \3-I el 4 -Ittiz ki) t4-11 

*, t.  x Th-T 4-11-1 t 
2. 	120 
4. 60 

112. In a hydro-Power Plant - 

1. Kinetic energy possessed by the stored 
water is converted into potential energy. 

2. Potential energy possessed by the stored 
water is converted into electricity. 

3. Water is converted into steam to produce 
electricity. 

4. Heat is esctracted from water to produce 
electricity. 

112. c-t) uiri-ffqff %-i4-)1 A - 

1. TifM.  krIM 4 Trit7 6,A ci.)) ftQl-ff 

k3)k)-11 14 LiRcifh f+-zrr uncii t I 
2. Tiitff ulei 4 R-2,17 3krt1 cp)N-d- 

thud-  # LtRufh f-zrr uncil * I 
3. \30-1-1 ct).) * f "id ct)) ITicr 

# LiRcOo f+--zrr uncti t1 
4.  

m- r 
\30-1-1 ct-P0) cl') fd7 \ rid t WS97 

fct)tlui ft-ar uticti tl 

113. The mass of a planet is twice and its radium 
is three times that of the earth. The weight of 
a body, which has a mass of 5 kg, 
On that planet will be 
1. 	11.95N 	 2. 	10.88N 
3. 9.88N 	 4. 20.99N 

113. yct) 	4,16 	4)1 	q02-14-11-1 li-24'1* qal4-11-1 	4,1.-1I 

31t 3-RT-4-  eTzi-,- r -Ft 4 	r- r t tff 
4,01 	t I 	\i --1 	4,1 	w 	yco 	q- 1, 	D\Licoi 

qa-14-11-1 5kg t, chl FR 611 
1. 	11.95N 	 2. 	10.88N 
3. 9.88N 	 4. 20.99N 

114. Which of these can be used as ol-factory 
indicator. 
1. Vanila 
2. Onion 
3. Clove 
4. All the above three 

114. "311-c TP4 t chl.-1 	1tTet 	,-.5)c,,t'C (Wu! 

,tizi ct)) * \N)L-1 A gztp-r 	lcii t1 
1. 	-q-t--r 	 2. 	7117 

3. 	M1+1 	 4. 	\3u 	cfcl .0119'f 

115. What will be the products when acid reacts 
with metals:- cc11 
1. Water and hydrogen gas 
2. Acid and hydrogen gas 
3. Salt and hydrogen gas 
4. Base and hydrogen gas 

115. (-NI 	\i 0-1 1 q 6) vi GT 311 1, Z1Tg tf 3ftfftTIT 

- 

1. vld UzIT 614k3-1-14 

2. 311:17 .ff9-11. 	6k3-1-1 	11\9 

3. eiclul 	- 2:11. 	8 	ky1.1 	4  'd 

4. aTTT-.21-T 	61 	)) v1-1 	41 .-1 
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116. What happen, when methyl orange solution 
mixed with HCI. 
1. Solution becomes Yellow 
2. Solution becomes Red 
3. Solution becomes Blue 
4. Solution becomes Pink 

116. 	cteil 	61i, 	U161 	ftRIT-0. 	31'1. 	.1c,M.-1 	c-0) 

611(1-(11Rct) - 3-fli A fc,iizit 	\Tin t :- 
1. f(,“4.-1 ttaT 6)4II I 
2. 11M -I'1Mid 	6)4 11 I 
3. far“-1-1 t-FT 6)4111 
4. RrN-I 	tle114) 	6 'II I 

117. Which of these salts will give acidic solution. 
1. Na2CO3 	 2. NaCI 
3. NH4CI 	 4. COONa 

117. T--14 74 0-1 -TiT riciul 31-Trzf VTt-  If t:- 
1. Na2CO3 	 2. NaCI 
3. NH4CI 	 4. COONa 

118. Name 	the 	metal 	which 	offers 	higher 
resistance to the passage of electricity than 
copper. 

Gold 	 2. Silver 

	

3. Marcury 	 4. None of these 

118. c114 4 qd-it 1 3114--  fag-d-Rhfr urg t - 
1. 	a-11 	2. 

3. 	LIM 	4. 	\LN)C1\--1 # t ct.)) 	11. 

119. Name two metals both of which are very 
ductile as well as malleable. 
1. Gold and copper 
2. Gold and silver 
3. Silver and copper 
4. None of these 

1. 	, -1).-II  

-4 119. R4-1 	Attrum 	31TZI 	c1'"-1 
3TTETT-ffW-t7 t - 

-f--C 
2. 	4 -11 q 	1.t.  
3.tti q 'ff1-41.  
4. 	\31-1)ci-c-1 	A t 	cr)14-  

120. Tick the arrangement of metals Fe, Cu, Zn, 
Ag in the order of decreasing Reactivity. 
1. Fe > Cu > Zn > Ag 
2. Cu > Fe > Zn > Ag 
3. Ag > Zn > Fe > Cu 
4. Zn > Cu > Fe > Ag 

120. urg Fe, Cu, Zn, Ag Eldt V-IA 14-)LIAelc11 

-q-c4-td-r * I _ 
1. Fe > Cu > Zn > Ag 

 2. Cu > Fe > Zn > Ag 
 3. Ag > Zn > Fe > Cu 
 4. Zn > Cu > Fe > Ag 

121. Which metal does not corrode easily? 
1. 	Gold 	 2. 	Silver 
3. Platinum 	4. All the above 

121. --9-# t f99. 	c 	# NTRITt -R4 vial 	-Igi- 
eincil 	:- 
1. 	*1)-11 	 2. 
3. 	1(4?-19 	4. 	-.1TR.  f -ef 

122. pH is defined as : 
1. - log [H30+] 	2. - log [H20] 
3. - log [OH-] 	4. - log [H+] [OH-] 

122. 	pH Tht zOITTickd-  ft 711.Q-1101 t : 
1. - log [H30+] 	2. - log [H20] 
3, - log [OH-] 	4. - log [H+] [OH-] 

123. A solution turns methyl orange into yellow the 
approximate pH of solution is 
1. 	1.2 - 2.8 	2. 	3.1 - 4.4 
3. 6.0 - 7.6 	4. 8.3 - 10.0 

123. 	Bch iclz4,-1 ft1211-0-  30... 	cl)) lait7T ct) 	c-11 

t I 	ieM.-1 	f pH 	ctql 	0411 :- 
1. 	1.2 - 2.8 	2. 	3.1 - 4.4 
3. 6.0 - 7.6 	4. 8.3 - 10.0 

124. Zinc reacts with NaOH solution to produce. 
1. 	02 	 2. 	H2 

3. NH3 	 4. NO2 

124. 	-1 	urg, 	fl1114-1 	61*3'11-aR1-1-0 
31-PriziT 	cr) 	\c-1-1-1 	ccir tl 
1.02 	 2. H2 

3. NH3 	 4. NO2 

125. Aqueous Solution of SO2 is 

1. Acidic 	 2. 	Basic 

3. Neutral 	 4. Amphoteric 

125. •1e4-P14 311WiT-0 cPI --Id'I-4 	e.“-h-1 t - 

1. 	3Tlitzi 	 2. 	aiTtrzi 

3. 	iqN-1)-1 	4. 	31-TWA 
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126. Ethane with the molecular formula C2H6 has. 

1. 6 Covalent Bond 

2. 7 Covalent Bond 

3. 8 Covalent Bond 

4. 9 Covalent Bond  

126. t f  C2H6  3T -17p 	 341*-1- 

1. 61-16 	\Jig) 

2. 7 ' -16 	 cr) 

3. 8 sd6 	ct.) TAT 

4. 9 
127. A flagellum is present at one end of a 

protozoan. It is : 
1. Planaria 	 2. Paramecium 
3. Hydra 	 4. Leishmania  

127. L  ch S11t),rt'r34-r 	L ch 	izR 	t 	 
t : 
1. 1#-4N7A-r 
3. 6I*1 

	

2. 	 4-1 

	

4. 	c).1 4)1-11 

128. [ 4--111-Z5c1 14 T4 -r+-4A 	 -9-ef 7171T 

utior 	: 

1. ctcyN)t-rik-t 
	

2. 4-11ct)1R- -11 

3. 	cf)-- ct) 
	

4. 	'161)•d)4-1 

128. DNA is not present in: 

1. Chloroplast 
	

2. Mitochondria 

3. Nucleus 
	

4. Ribosome 

129. The wings of house fly and the wings of a 
sparrow are an example of : 
1. Analogous organs 
2. Vestigial organs 
3. Respiratory organs 
4. Homologous organs 

130. Which of the following is NOT the purpose of 
Transpiration? 
1. Help in absorption and transportation in 

plants. 

2. Prevents loss of water 

3. Maintains the shape and structure of 

plants by keeping the cell turgid 

4. Supplies water for photosynthesis  

129. 	"tzfq 7:W41-  3ti7 	 \3q16,0Ji 	

1. 'd -k 	3trr 
	

2. 317tit 3fIT 

3. 	c-N-1--N-1 3tTT 
	

4 	s14-1u11c1 3f f 

130. 4--111Z.q 	4)1 
	

c'-1 -1 4)1 

t-2  
1 
	

t-htt 	31--qTnTru-r 311-  LiRci i 	‘-16H-lcil 

cf)-11 I 

2. utcl 	 61-c-11-1F 

3. colPicm ch1 ut),(114, 	34-r-fit 
31-rm-R cb) 

4. 1c1)11 	 fo7 vicf c 3frit 

cr) -1 I • 

131. Pulmonary vein carries : 

1. Deoxygenated blood 

2. Oxygenated blood 

3. Mixed blood 

4. None of these 

132. Cell division in plants is promoted by : 
1. Abscisic acid 	2. Gibberllin 
3. Ethylene 	 4. Cytokinin 

133. Loop of Henle is found in : 
1. Lungs 	 2. Liver 
3. Nephron 	 4. Neuron  

131.Lt),-1-1-s-Ni ft-RT 	f+31 cf-)k 	 4)1 	

LiR'1-c1soil 61c11 

1.  

2. - 

3. f?'&ff 

4. Thief 

132. (-IV A ch)DI 	 1:47-1-1 	 cr-)711 

	

1. 	f-,s'iR-ic.t) 311 1 	2. 1Z-1,s1-,-1 

	

3. 	7-.11- 	 4. 	'-11*t ct)N1- .-1 

133. Rqd  

: 
1. LT 	 2. Tip- 

3. Ta --fuj 	 4. 	ct 1 cr71D1cr)1 
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134. Flight and fight hormone is : 

1. Adrenalin 	2. Thyroxine 

3. Oxytocin 	 4. Insulin 

134. 	-9-14 t We -9- 	co) 	-c,i)-  3N 4̀-TTIT).'" 

M91- 	ct)i 	unc-11 t : 

1. 	,R.)1.-1 	2. 	24171-49-9.  

v  3, 	̂ 	 4. 

135. In In the food chain given below, if the amount 
of energy available at fourth trophic level is 5 
KJ, what was the energy available at the 
producer lever? 
Grass4Grasshopper4Frog4Snake4Hawk 
1. 5000KJ 	 2. 500KJ 
3. 50KJ 	 4. 5KJ 

135. tt q) 414 	1-M- ,FIFT A -c1q4 *it , -c-k 

1TR.  'TT-674 k3w-11 51(1 	* I 	\3011qc-t) 7-c-k IR 

'T -fft. th 3-11.  371----ecT Or? 

ErrE 4 lt---,r 4 	4 1I4  4 q-M 
1. 5000KJ 	 2. 500KJ 
3. 50KJ 	 4. 5KJ 

136. Jaya and Ratna are varieties of : 

1. Maize 	 2. Rice 

3. Wheat 	 4. Bajra 

136. 	R 4---tir6k-i A t 7TfT 3-11R- , c--ii ft-T 1=b71-a.  

c 	f+771 t : 

1. 	4-1c1T-01 	 2. 	T-1Iclei 

3. 	q 	4. 	EIRYNI 

137. Which of the following in NOT an ancient 137. 	R 4--tfWZ.qo A t ctlai 	.11 vilt-9-  AIM 34'49-R 0T 
water harvesting structure? 
1. Kattas 	 2. Sargam 
3. Kulhs 	 4. Surangam 

s -isel--11 	-gt t? 

1. 	cr)ctl 	 2. 	,M 4 1 4-I 

3. 	cc' 	 4. 	7171 

138. ATP is formed by photosynthesizing plant 
cell by : 
1. Photophosphorylation 
2. Oxidative Phosphorylation 
3. Substrate level phosphorylation 
.4. All of the above 

138. 	mcoil 	,)Nci 	71-47 	cll)1icl)1 	# 	Tcr.a.t. 

Wff vf --zrr -gwr w9t.  t : 

1. 4))e)4) *4))1,-1 

2. 31t4tted-q-  4))-k-o1R(,)1,1 

3. TI-Ti---d. .TfftRi.  4))*1-1))Re)1,-1 

4. \3LN)ct-c1 Tilt 	TT 
139. Breathing rate in human is controlled by : 

1. Thalamus 	2. Hypothalamus 
3. Cerebellum 	4. Medulla oblongata 

139. 	9l-ici # 	c -I.-1 	q, 	I- Dc-i ter t : 

1.i 	 2. -07c1)-2)--17Ri 

3. 	ri 4i 	4. A--zk-m 3fr-1-4--cr 

140. The number of pairs of nerves which arise 
from spinal cord is :- d-fm--r 

	

1. 	21 	 2. 	31 	. 

	

3. 41 	 4. 	51 

140. 	1M-R 	(*k-M-1.-10 	ct)-I.4) 	t 	Icoe,i ,-) 	cilQ) 

1-rt c6) *iii t : 
1. 	21 	 2. 	31 
.3. 	41 	 4. 	51 

141. If a:b = 2:3 and x:y = 3:4, then 
2ax-25by 

is 

141. 721f 	a:b 	= 	2:3 	311-R. 	x:y 	= 	3:4, 	t. 	t 

2ax - 25by 

3ay + 4bx 

1. 24 / 5 	 2. 5 / 24 
3. -24 / 5 	 4. 	12 13 

cl) 	4-I-1 	- 

	

3ay + 4bx 	
I 	I 

1. 	24 / 5 	• 	• 	2. 	5 / 24 
3. -24 / 5 	. 	 4. 	12 	13  

142. A square is inscribed in a circle of radius 'a'. 
Another circle is inscribed in that square and 
again a square is inscribed in this circle. The 
side of this square is :- 

1. 2a 	
2.2 

a 
4. 

'a' -177:3 	 -q-Tf 142. 	1-  I 	cite) 	11-1 	-4 	') 	34--- : 	RATT 

4 N1 	* I 	'41 	3T..: 	c1 41 A 	c.t) 3T-.: -c-j-ff 

4 I q1-  t 14f1 	3-T -: 	ctd 	14 	Sri. 	ct-,  3F;U: 	c1 41 

4l 	4 1q1 	t 1 	(1 	31---: 	ci 4 	) 	̀4,piT 	r- A
. 

--4 TF 	t: 

a 
1. 	2a 	 2. 

2 

a 
4. 

3. 	--7-- 	 a 
V2 

3. 	,- 	 a 

	

-V2 	 -- - 
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143. If acose - bsin0=c, then a sin 0 + b cos 9 = . 

1. + Ara-2  b2  + c 2 	2. + a2  + b2  - C 2  

3.  +1a2 -b2  +c2 	4. ± a2  - b2  - C2  

143. Tfit acos0-bsin9=c, 	asin 	bcost9 =? 

1. + Va2  + b2  + c2 	2. + Va2  + b2  - c2  

3. ± a2  b2  + C 2 	4. +.1a2  b2  c2  

144. If x2  -3x + 2 is a factor of x4  - pz +q , then 
the values of p and q respectively are : 
1. -5, 4 	 2. -5, -5 
3. 5, 4 	 4. 5, -4 

144. x2  - 3x + 2 Tgzfq x4  px2  + q Th-T 

cl) p 1 q st)4-in 4-11.1 
1. -5, 4 	 2. -5, -5 
3. 5, 4 	 4. 5, -4 

145. If xi, x2, x3, 	, xr, are in A.P., then the value 
1 	1 	1 	 1   

of 	 + 	+ 	 is: 
XI X2 X3 X3; 	 Xn  

1. 	 
n -1 	

2 
n-1 

	

xi x„ 	 X2  Xn  

n 	 n +1 
3.  	 4. 	 

xi x„ 	 xi x„ 

145. Tfft Xi, X2, X3, 	Xn 	41 	 ;)Ct (AP) # 

	

C 	c1l 	I 	
1 

1 + 	+ 	
1 

ct-)1 
x1 x2  X 2  x3  x3 x4 	x„_i xn  

411-1 t: 

	

1. 	 
n -1 	

2. 
n -1 

xi  X „ 	 X 2  X „ _ 

n 	 n +1 
4. 

XI Xn 

146. Tilt-  X2  + y 2  

- 
1. 2 
3. 8 

_ 
146. If x' +y-

, 	1 12 
 =4, then the value o 

x y 

X
2 y2 

is - 

	

1. 2 
	

2. 4 

	

3. 8 
	

4. 16 

z = 4, ti t X2  + Y2  c-P 
X y 

2. 4 
4. 16 

147. In the figure, BC. = CD = DE and P is mid point 
of CD. The area of AAPC is 

A 

147. tr 4 1 	 3TTTIt # BC = CD = DE 	P, CD 
t I AAPC Cl,! &-)7uFF 	:- 

A 

1 
1. 

3  
- ar (AABC) 1 2. 

2  
- ar (AABD) 1 1. 

3 
 ar (AABC) 1 2. 

2  
- ar (AABD) 

1 	 1 
4 

3. 
6  
- ar (AABC) 	4. - ar (AABD) 1 	 1 

4 
3. 

6  
- ar (AABC) 	4. - ar (AABD) 

148. if x, y and z are positive real numbers and a, 
b and c are rational numbers, then value of 

1 
	

1 	 1 

1+ Xb-" 4 Xe-" + 1 + x"-b  Xc-b 4-  1+ Xb-c  xa-c  
is 
1. -1 	 2. 1 
3. 0 	 4. 2 

148. zift x, y U z 	cP CI 1\1-cl 	er 
a, b 	c ziWiEr 	 

1 	1 	 1 

1-4-xb-"+xe-  1+ Xa-h  X c-b 	+ X b- 	X a-c  

COI 4-11‘1 t I 
1 . -1 	 2.1 
3. 0 	 4. 2 
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149. If the 	height 	of 	right 	circular 	cylinder 	is 
increased by 10% while radius of base is 
decreased by 10% then curved surface area 
of cylinder : 
1. Remains same 	2. Decreases by 
3. Increases by 1% 	4. Increases by 0.1% 

.f,-Tzfr 149. 	Lch (14-sIct(N 	c 	mfr # 10% 

4 m-it q 4,"-cII 	A 10% 4 -q-it cl.) 

\YIN (-1) \ ,4-ici>> cia,  7817 a)---cb-6.  

1. 	qei 	4 1i 	 2. 1% 4 m-41 	-1-Tft 

3. 	1% 4 1ft t-Tfr 	4. 0.1% 4 -1-1%-  oYin 

150. 	If al, a2, a3, 	.. 	, an 

then the value of 

are in A.P. and al = o, 

a+  !-21-+ 	an + 

150. 7--fft 	al, a2, a3, 		 

A.P. 311-R. 	= al 	o 	c1(1
(  

	

, an 	-1 4-11.-c-k 	54th 	# 
r, 	

an 

	

. 
, 
2-3 . 	̀'.4  + 	+ 	+ 

t.  

-a„ 
" 

1. 

-I  ( 	-I I + 	+-1  
a, 	a, 

1 
n+ - • 	 n+ 

a2  

an-2 

2. 

a3 	an-1 J 

is equal to 

1 

-a,
(  1 	I 

a, 

1 'm 

a3 	an-1 

+ 	+ -+- -r iii-t 6NIGN t? 

1. 

a, 	a, 	an--2 i 
1 

n+ - 	 n+ 
1 

2. 

	

n 	 n-1 

	

\ 	1 	 \ 	1 
3. 	(n-1)+ 	 4. 	(n-2)+ 

n 	 n-1 
\ 	1 	 \ 	1 -,----\ 

Vi - I) 	 (n-2) 3. 	(n-1)+ 	 4. 	(n 	2)+
(n-2) 

„ 
V1-1) 

151. There circles touch each other externally and 
all the three touch a line. If two of them are 
equal and radius of third circle is 4cm then 
radius of equal circles is : 
1. 12cm 	 2. 8cm 
3. 16cm 	 4. 20cm 

151. 	c'H 	q-K1 	(.1.) 	v1 	q17f -R-Azre 	cl->c) 	t 

31) 	3P-ft 	cil-r 	ct.) 	- rf 	col 	Tat 	ct.)) 	t 1 

zrft 39-# t q) qv' GNIGN * 	-21-rt-i-f 	cj-d 

4 -1)--ziT 41. *, c164 GNIGN IVI 4 -17-zr ITt 

t: 

	

1. 	12. 	 2. 	8tt. 

	

3. 	1674t. 	 4. 	20 	1. 

152. In the given figure, the centre of the circle is 
A and ABCDEF is a regular hexagon of side 
6cm. The approximate area of segment BPF 
is. (Take it = 3.14). 

A 

152. -r47 4 I 	-it 	# A cd-c1 4)1 chc t2.1-1-  ABCDEF 

6tt. IT col 	c,t) ri---2-p * I BPF q-1-ITT 4)1 

&-)7EFF -1111.71-  t (rt = 3.14) 

A 

C 

1. 25 cm2  
3. 32 cm2  

-4- 	..„,. 
P 

D 

- 

E 

2. 22 cm2  
4. 30 cm2  

C 

1. 25 cm2  
3. 32 cm2  

-4- 	.,„„. 
P 

D 

E . 

2. 22 cm2 
4. 30 cm2 

1 	1 	2 
153. If 	 = 	then 	is the 

1 	1 	2 
T4t 	 +y'- + 	= 	, 	x'-  153. 	 COI 

y+z 	z+x 	x+y 
4-fhl 	CM' t : 

1. 1 	 2. 	- 2z2  

3. 2z2 	 4. y
2 
+Z

2 

+ 	 , 	what 
y+z 	z+x 	x+y 

'2 	1 
value of x +y`? 

	

1. 1 	 2. 	- 2z2 

	

3. 2z2 	 4. y
2 
+Z

2 

154. If x2  =y+z, y 2  =z+x and z2  =x+y, then 

1 	
+ 	

1 	
+ 	

1 	
? is the what 	value of 

154. Tilt 	x2  =y+z, y2  =z+x 3117 z2  =x+y 
 	1 	1 	1 	

. --r 4-11-1 	cmi 	t? cio 	+ 	+ 
x+1 	y+l 	z+1 

	

1. 	1 	 2. 	0 

	

3. 	-1 	 4. 	2 

	

x+1 	y+1 	z+1 

	

1. 	1 	 2. 	0 

	

3. 	-1 	 4. 	2 
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159. The expression 14m - 6m  will always divisible 
by 

	

1. 8 
	

2. 20 

	

3. 14 
	

4. 6 

160. PQRS is a square of side 6cm each and T is 
mid point of QR. What is the radius of circle 
inscribed in ATSR. 

P 

3 	 6 

	

1.  	 2. 	 
3-V5 	 343 

	

3. 	
2 	

4. 3+5 
3+V5 

161. When was the democracy restored in Chile? 

	

1. 1973 	 2. 1988 

	

3. 1957 	 4. 1991 

162. Which of the following country is not a 
operational member of security council? 
1. Russia 	 2. China 
3. Germany 	 4. America 

S 

3 

155. If a,,8,7 are the roots of the equation 

x + 4x 1 = 0 • then (a+ fir +0+A-1 +(y+a)-1  

is equal to 
1. 2 	 2.4 
3. 3 	 4. 5 

156. If x,y, z are three positive numbers then the 
y+z z+x x+y . 

minimum value of 	 

1.1 	 2. 2 
3. 3 	 4. 6 

157. The minimum value of the expression 
3b+4c 4c+a a+3b 
	, (a,b,c are +ve) 

	

a 	3b 	4c 

	

1. 1 	 2. 4 

	

3. 6 	 4. 8  

155. Zift 	x3 + 4x +1 = 0 .4-1 cl-)1 	a„ 8,y 

	

c-1) 	(a+ 	+0+2;) 1 +(y+a)-1  0)1 

	

1. 2 	 2.4 

	

3. 3 	 4. 5 

156. tift x, y, z 

y+z z+x x+y 
	+ 	+ 	 4)1 •-1c14-1 HI-1 t :- 

	

x 	y 	z 

	

1. 1 	 2. 2 

	

3. 3 	 4. 6 

	 3b+4c 4c+a a+3b 	 
157. c1,-1‘314)     0)1 	ids 

a 	3b 	4c 
41 I 	P--4f a, b, c 	 - 
1. 1 	 2. 4 
3. 6 	 4. 8 

158. The volume of a cube is numerically equal to 
sum of the length of its edges. The total 
surface area of cube in square units is 

	

1. 12 	 2. 36 

	

3. 72 	 4. 144  

158. L  c,1-) 	4)1 3171 	\J-IccLI1c-4-14) 

346f) 	 Tfrrr 	*1 
cbtTpt0 Tserzr a.)---ch-F c4 *(1-)1 -14 	:- 
1. 12 	 2. 36 
3. 72 	 4. 144 

159. c2-1\314) 14m - 6rn 'OTTf'04-irf --o-  6 411 

	

1. 8 	 2.20 

	

3. 14 	 4. 6 

160. c14 PQRS c6) c cf 	cl 61 t 

T 	QR 4)1 TVT 	t I ATSR 14 

61.) 3f: cz1 4 f -c715.  4 I=Z11 clq-11 eft? 

161. c6) ---21111-ffT chi 	4.? 

	

1. 1973 	 2. 1988 

	

3. 1957 	 4. 1991 

162. 1..4--iWZ5c-t- 	 trftsrq 
Th7 7-2T1-4 	 -ef t? 

1. 	 2. -t9- 

3. -Ttt 	 4. 311)ftTT 
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following was not a member 
nt assembly? 
sandhi 
Nehru 

I Prasad 
ibedkar 

163. 	1 4-firZqci -4 t ctl-t tftw9- 	-1-1--1-T 	‘-1q .- -1 

--ef.  0? 

1. 4-110-1l 	Tat 

2. v1c110 	Mid 	.6\r) 

3. 510 	‘-- 	5k-1Iq 

4. 3TO 410 3TRO 31-441 

following 	Secretary General 
ar on Iraq was not legal" 

2. 	B.B. Ghali 
4. Ban Ki Moon 

164. 	'Vail-  Liftsiq * -r+--i 	41k11c1 	0)01 	24-1 

"3114ftWt c01plc) 1-k ailst -1U1 	r -t Titt 

1. 	W1:61-  7 34---i 	2. 	tO tO EfTA 

3. 	74 2:Tt 	 4.  

leclare emergency when - 
:er advises him to do so 
advises 
of ministers, in writing, 
to do so 
ter ask him to do so 

165. 	7TIKT:ft 3i1Llic1cblel 	-`'i 'Ell-El-TT ct)c-11 -t .-.4- 

1. R-1Tq4=11' 	1c-110 	c) t 

2. • -k-iq 	- 1. 	-1c.116 	Lk 

- {Z.qc-1 3. Tit.  El ftT4 -.̀ I- 	11cil 	1-k 

4. 4  j.  S 	-41-t -Th 	' -1 c-11 	Lk 

s a province of try before the 

2. Zimbabve 
4. Yogoslavia 

-4-1 166. 	X-11 cl)-  31-67 014 t t fl+---1-  kVT 4)1 

1--- 	2-11- 	- 

2. 	f 1. 	1. c-1-114-1 	 4 isil 

3. 	'3-11 	(-44)1 	 4. 	TN-c,iii 

Wowing state was born out of 
y and geography. 

2. 	Nagaland 
4. Assam 

167. 	-lc--€ 71TTEf- 	chl 4  1 6 -1 T4-RT-f0', vainc-1134 47 

"4.-Tt- 	-- 3TF-TR Lk pfr I 
1. 	c-1 	 2. 	-11 4 11c,lu5 

3. 	vi '01 	 4. 	3MPi 

Discrimination' 	is 	a 	part of 
ntal right? 
adorn 
ality 
A exploitation 
cation and culture 

"3.TT4pziffT 168. 	 chl 31-ff' 	ft-i -41-61f0M-R chl 	-) 

1171 t? 

1. s-c-.10 ,--)101 	4)1 	3ff 	T1 

2. ,14-11-1c11 	chl 

3. 71)1Tuf 	f4--4 

4. fta-T1 	G T4T-TIT4 c-t-)1 

for the individual and family 
is known as - 
kar Aandolan 
;ti Aandolan 
indolan 
karan Aandolan 

169. 	Trit-- T3t• 	a_41a-ciiici 	3N• 	yiRciiRct)  Itq-9- 

-4 	Trqt 	.cl- 	4-ii4 1 	61.) 	clle) 	3.1t- r--9. 	0)1 
0)61 	ullcli t - 

1. Trft---r3Tf 	3ri----6-9- 
2. -4=ft-m wf4Tr 
3. -11%Nlicct) 

4. -9--(1- 	s -Ilia-cicr)ul 

163. Who among the  
of the constitue 
1. Mahatama 
2. Jawahar Lal 
3. Dr. Raiendr 
4. Dr. B. R. Arr  

164. Which of the 
said that US w 
1. Kofi A Anan 
3. U Thant 

165. President can 
1. Prime minis 
2. Parliament 
3. The council 

advises him 
4. Home minis 

166. "KOSOVO" wa 
spilit 
1. Vietnam 
3. Sri Lanka 

167. Which of the f 
culture. ethnicit 
1. Kerala 
3. Mizoram 

168. 'End of Racial 
which fundame 
1. Right to Fre 
2. Right to equ 
3. Right again 
4. Right to edu 

169. The movment 
right of women 
1. Mahila Adhi 
2. Mahila Shal  
3. Narivadi A 
4. Nari Shaskt 
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170. What is the meaning of 'Transparency'? 
1. When decision is taken by the ruler. 
2. When decision are make through leader's 

conclusion 
3. When decision are made for individual 

greeds 
4. When decision are taken with honesty and 

proper follow of rules 

170. `Likc't 	qzrr 
1. ,-1.1 	 gIRT c T ,3-11c-) *1 
2. u1.4 	 .fitzbti A 	1() 

*1 
3. 4I 	c-P) .R9T4=1 

um) ti 
4. \3161 	 4-11`1q1) 3T 	(-14-11T-11 	 ra7 

vilcl t 
171. The International organisation that works for 

human rights is - 
1. Amety International 
2. Amnesty International 
3. Asnesty International 
4. Afnesty International  

171. IliT97TfR1 	 ct.) 
31-9-dtttzi 	- 

1. 31Aer 	 
2. y41.-c) 	‘)1.-1(•1 
3. .crRittl 	 

4. k- 

172. What was 'Livre' 
1. Currency of France 
2. Newspaper of France 
3. Magazine of France 
4. Flag of France  

172. "1 -4" 	2TT 

1. Th-ki 4 AC -43qT 

2. Ti cf-)1 	t-1:1 

3. miTr 4 cf-) 

4. *Wt.  
173. Who granted sole right to trade with East to 

East India Company 
1. James I 
2. James II 
3. Elizabeth I 
4. Elizabeth II  

173. .c.h 	11-1W7 	 •RiT2T 

cOf 

e<zIT? 

1. t,zT w4-1:f 	2. -4111-  ft-t-zr 

3. 	1,3i14-2.1-  q211:1 	4. .cril-421. fteM 
174. In which congress session, Non cooperation 

programme was adopted 
1. Ahmedbad 1921 	2. Kolkata 1917 
3. Amritsar 1919 	4. Nagpur 1920 

175. The first Modern Novel published in 
Malayalam in the year 1889 was 
1. Indulekha 
2. Rajasekhara Caritamu 
3. Manju Ghose 
4. Pariksha Guru  

174. c4.)1-1 chftTi.  311Ot'ffff 	3139-6th-rr ct)1404-r 

- 

1. 31-619--‹-r-orq 1921 	2. cOrictrcll 1917 

3. 31171' 1919 	4. III 1920 

175. 1889 let 410q1c141 41115IT 

31T 	\31-I "z4N-I 2,11 - 

1.  

2. lv-R)W pi ci 

3. lq 
4. kAaiT 4_1\`) 

A qcoiDici ;p.m 

176. The painting 'Damayanti' was made by 
1. Abindra Nath Tagore 
2. William Jones 
3. Raja Ravi Verma 
4. Ravindra Nath Tagore  

176. 'T:Tzt-dt" 	i--)Ict- -11 (Painting) 

•Trt 

 

2? 

1. 311.1 - 1T2T 8 4 1). 

2. r.4 4-i 
3.  

4. Tin-  9T2T 84i) 
177. When was Simon Commission arrived in 

India- 
1. 1928 2. 1930 
3. 1931 4. 1932 

177. flI*1-1-1 01-4-1 7-TTR-ff cOssr IT0.  - 

	

1. 1928 	 2. 1930 

	

3. 1931 	 4. 1932 
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178. `Rinderpest) is a term used for 
1. A cattle disease 
2. Missing of cattle 
3. Indentured Labourer 
4. Mass production in a factory 

 

179. Giuseppe Garibaldi was a famous freedom 
fighter of - 
1. Germany 	2. Poland 
3. Ireland 	 4. Italy 

        

 

180. Gudem Rebellion was led by 
1. Baba Ramchandra 
2. Jawahar Lal Nehru 
3. Alluri Sitaram Raju 
4. Mahatma Gandhi 

 

181. "The Social Contract" book was written by 
1. Dantey 
2. Rousseau 
3. Petrarek 
4. Napolean 

 

182. The principle of the `Garden City' was 
developed by 
1. Raymond Unwin 
	

2. Barry Parker 
3. Ebenezar Howard 4. Herbert Baker 

178. 'R.sa-t' 	 Vz:pf 

1. icri 	A t1Trtt 
2. 1--M31).  4-4 4,111 	‘311-11 

3. 3.1-1- 	551#1-- 

4.  

179. T04 ‘)611c-,\,4) . ct) 	 t9Tt 

- 

1. . 11-t 	 2. plc 

3. 31171; cis 	4. rdAl.  

180. "gtii 
1. -qT4T 

2. vI1I 	11 1 ') r) 

3. 31- Tfi -1-)c11'141 

4. 4161011 Tflt 

	

181. "q -&JF cr)1-0-t" -11110 	r+-3-1* T71- 

	

1. 	qic) 	 2. 	•<-)•(-i) 

	

3. 	 4. 

182. V-11-4:  cOl 71---R" 4 31OUNDTT ft71-4ci 

4 - 

	

1. 	3r 9f49- 	2. ttr IT1Th7 

	

3. 	61ci 	4. 
183. Which of the following ,organisation looks 

after the credit needs of agriculture and rural 
development in India. 
1. EC' 	 2. IDBI 
3. NABARD 	4. SBI 

183. 	T A t c61-1 TiT 
[2T -Treturrawru cp1 ,6-c1ifo 

cmot 1 
1. FCI 
	

2. IDBI 
3.. NABARD 
	

4. SBI 

fI  Oat? 184. How many phases are there in circular flow 
of income? 

	

1. 2 	 2. 3 

	

3. 6 	 4. 5  

	

184. 31 RE 	.l 	*W-ff4 

	

1.2 	 2.3 

	

3. 6 	 4. 5 

185. Which of the following is considered as social 
infrastructure? 
1. Transport 	2. Education . 
3. Energy 	 4. Communication 

185. 1*--11%ci   sdpitDct) 311zTri 

1. qic-iNto 	2. PlaiT 

3. .3 I1 	 4. V*i-cik 

186. Multiple cropping refers to 
1. Cultivation of Wheat and Rice 
2. Cultivation of two crops in alternate rows 
3. Cultivating more than one crop on the 

same field in a year. 
4. Cultivating crops & rearing animals 

simultaneously. 

186. Gigi-o,k-fellzi 	ci-Li I 3TPITITzt 

1. \3 4 I1-11 	 

2. t tb-7{c 3167-3167 TAWN" \3411,11 

3. -) tr tiff # 	.) 	.) 	3i 

4)'1M \3 4 11111 

4. 1:b71- 	I NI 3tt LIV-I I 	.) TiT2T 

cM.-11 
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2. cPleil 

4. 	611 1etct) •-114 1 

196. qiis itg 	LIP-c4411 itailF 
	 t-dr *? 
1. cKZ-k-iem flpk 
3. 91 Z1 *1M  

187. Infant mortality rate refers to the death of 
child under the age of 
1. 1 year 	 2. 2 year 
3. 3 year 	 4. 4 year 

187. f4M  	311k;fgr 	31-N cicb 

c 	t 
1. 1 citi 	 2. 2 c-10 
3. 300 	 4. 4 citi 

188. In which year was the Integrated Child 
Development Service (ICDS) introduced 
1. 1965 2. 1975 
3. 1985 4. 1995 

189. The first chairman of Planning commission 
was? 
1. Indira Gandhi 
2. Dr. Rajendra Prashad 
3. Jawahar Lal Nehru 
4. Vallabh Bhai Patel 

190. What percent of the total surface area of India 
is covered by mountains? 
1. 33% 2. 35% 
3. 30% 4. 25% 

191. Which mineral has excellent dielectric 
strength, insulating properties, low power 
loss factor and resistance to high voltage? 
1. Aluminium 	2. Lime stone 
3. Copper 	 4. Mica 

188. •1411b(-1 	 1c.11 (ICDS) r+-T1 

4 14-  01. 1 
1. 1965 2. 1975 
3. 1985 4. 1995 

3T 1 1 1 3U-ptrr 	q0 1:f al.  01.-r 0? 
1.  ft- r ill 
2.  vi0 
3.  kr1cil6 	Mid 	.)6\'n 
4.  q 1-1 	iTtF 

icR Off faR7 

1. 33% 2. 35% 
3. 30% 4. 25% 

	

191 c01-1   tre1-7 III c1, - 
qur, 	 Ri-1 

cile.rr 	1criWtrum t-114 	t? 
1. 	 2. T11 tr-c2,R 

3. IT1T 	 4. 311A- 

189. 

190. 

192. ffic9. 	coiri Tfr 

1. BHEL 
3. SAIL 

2. OIL 
4. TISCO 

193. Which mode of transport reduces trans-
shipment losses and delays? 
1. Railways 	 2. Road ways 
3. Water ways 	4. Pipelines 

193. 1*--1iR.sik-f 	t 41ci6.1 C I col-i -R=IT RTR.T.9.  
c16-11-ckul Trfit 	ct)) 	 t? 

1. 	 2. 	Ch LIPc16-1 

3. ulei 1-1Pc16-1 	4. 1-11t-ic-114--1- 
194. Which of the following lake lies on the 

Equator? 
1. Lake Victoria 	2. Lake Malavi 
3. Lake Nasser 	4. None of these 

194. R4--I1Zqcr 	 1p:far 
tH 	t? 
1. fact-t1R41 gra. 	2. 11-cc 

3. QTR gra' 	4. T9-# cr)) 
195. The longitudinal valleys lying between Lesser 

Himalayas and Shivaliks are known as : 
1. Valleys 	 2. Coast 
3. Passes 	 4. Duns 

195. Mg 1 41lc,V-.1 	 TTZT ftP-17 

EirftRt Cr;) ci-q I 4)61 uIK-11 t? 
1. Errtr 	 2. cit 

3. q'd. 	 4. 
196. In winters, the western cyclonic disturbances 

originate from which sea? 
1. Caspian sea- 	2. Black sea 
3. Mediterranean sea 4. Baltic sea 

192. Which of the following is an example of joint 
sector industry? 
1. BHEL 	 2. OIL 
3. SAIL 	 4. TISCO 
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he need to use resources and 
ve them for future is called:- 
e development 
e conservation 
ible development 
resource Development 

197. T4--41Vt * 7tff 34rzh-71-  4 31-1---477WM 

.2.1r Irratzr 	f7 Tarr 4,1 Tar cb0 t? 

1. r-fr  -R1--furu9-  raT 
2. BTU '-is&e-TuT 

3. ,-ioct41quilq 	f'o------r -i- 

4. 4-11-1c1 	-4---ilV9.  f4W--4 
ig the following has the maximum 
Jational Parks? 
n and Nicobar Island 
al Pradesh 

ya 

198. 	1*--iWZ5c-i 	li T4 cpgi 	4 	flcIlict-) 	,-iCczil # 

--rt -zr wait .3u-r ft-2 	-g? 
--- 1. 	3T -TTI 	Ohl 1k 

2. 31-€711--  At:4T 

3. 31-41:f 

4. 41-11rig 
D the 'Theory of Plate Tectonics', 
plates come towards each other 

)f the following is formed? 
ent boundary 
it boundary 
m bouhdary 
the above 

199. -1-#E Rci 	rct) it41a 	3r-TTR ut6i ql'cr- 
ct) 	V-1 	4 	3t1R- 	Tif . 	-Wed). 	* 	cl) 

f*--if%ici -0 -0-  q-Tfr q9r-er t? 
1. 3TPRiTti 

2. &Wilt fli-INI 

3. s-i‘Uulfci 	f'---RT 

4. OA -4 ctq 	--ef 
producer of cotton in the world 200. 	ffgq 	ct,1 	Tr-q-1-f4-- 	cpqm 	cm 	c-t.liqct, 

0-1 fl I t? 

-1-R 1. 7-1 -d- 

2.  

3. WFultF 

4. #zjWf T-IK 31-41 --T 

197. Balancing 
also conser  
1. Resourc 
2. Resourc 
3. Sustain 
4. Human 

198. Which amo 
number of 
1. Andama 
2. Arunach 
3. Assam 
4. Meghala  

199. According t 
when some 
which one 
1. Converg 
2. Diverger  
3. Transfor 
4. None of 

200. The largest 
is:- 
1. India 
2. China 
3. Brazil 
4. U.S.A. 
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